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Instructions:

· Submission deadline is 26th October 2018. Late submission is not permitted and assignments handed in after the date will be returned unmarked and a mark of ZERO awarded.

· The assignment is an individual assignment and individual submissions are required.

· Students are respectfully reminded of the University and Department’s policy on Plagiarism. Any submission that is either not original or bears an unacceptable similarity to a 3rd party document or submission will be awarded ZERO for the entire assignment.

· Assignment must be submitted on A4 paper (handwritten). No folders, binding, plastic sleeves, etc please.

Q. 1: 
Different topologies behave differently when a connection fails. You are required to discuss the effect on the network when only one device connection fails in the following cases:  

1. Seven devices are connected through a ring topology.
2. Four devices are connected through a mesh topology.

3. Twelve devices are connected through a star topology (Note: Do not consider the hub failure).

4. Fifteen devices are connected through a star topology and only the hub is failed.

5. Eight devices are connected through a bus topology.
Q.2: 
What are some of the factors that determine whether a communication system is a LAN or WAN?
Q.3: 
For n devices in a network, what is the number of cable links required for a mesh, ring, bus, and star topology?
